Quuidododooooooooo@yuuooouood
POFO 0000000000 O0OOOOO0
https://www.100test.com/kao_ti2020/644/2021 2022 2010 E5 B9
B4 E3 80 8A c43 e44142htm (L) 00O OOODOOOOO
Jododobobouoooboooboooooouooboo
J0o0dobooodoodoooouooodxooooa
Jododoboooooodoooooooo+=01-000
O0Ox 000d00od0odoooooooooooooa
O 000+ 01-00douox17do0ouooodao
J000o00o0od0oxooooooooooooon
DOo00o00odoooox 17%013%0 00ooooon
Jo0odoooo@oooooOo)yoooooooon
Jododoboboooodobooouoooooooooa
J@udodobooo)yoooouooooooooboa
O1000000 @QUo=00o0uodoxdouo @ud
Do00=(U000oooo)y/auouoat)x goood (3)
DJo0o0d00=(U00oooooooboO)xuooooo oo
Jodododouououons3%d0ndnnndioon
DO00000040%000000017%0 00 =100

x 40%=40( O ) OO O O =(100 40)/(130%)x 30%=60(1 O ) O O
[ =(10040)/(130%)x 17%=34(0 0)20 000000 ()0
O=000000x 0000 @QUubouod=(uouoobnd
OO0 0o oooouooouooooboobon
Jloooododon40%dodnnnnirwd =100
x 40%=40(0 U ) O O O =(10040)x 17%=23.8(1 I ) O [0 432[1
Jodododooogicot 0o ondndhisod



Jodododododododododouooooo
Jodosodoood2000ouooododoid
O=r810000.00000000000023%00000
Jododoboooobodooobooolioobooooad
0 000=1801082=200(0 0 O) 00O O OO =200x 7.81
X 23%=359.26(1 )20 00000000000 10%0 00O
OO00017%00 O00000=(200x 7.81 359.26)/(1-10%)

x 10%=213.47(0 0 ) 0 0O O 0O O =(200x 7.81 359.26)/(1-10%)
x 17%=3c29(U )0 U0l ouobilooooooood(
yoooooooooooooooz20o0o0o0 (o d
J0o0d0ooooooooooud4oo.QQuooooooo
DJodododoz00ouoo30ooon o
Owww.examdacom(HO OO OOOOOOOOOO15000
Jo0odob.QQuibouoboouoodoboonoa
“dJO000” Doooo40000ouobouoobooon
Jo0odooooooodoooouoooooooooa
Jodododododououououesbo odo
Jodododouododozoos3fibooonon
Jodoood3gz2zrbogosoooonoonooon
OOoO0o00)o Ad27500 BO30 O CcOe.s0 0 DO 6.750
O 000000l O0OoO0oooooobooooOooOoogn
J000ddodoboooooouoouoonoooasnie
Jododoboooooodollegozroorzoooaos=s
DO00000x 0000000 (0.5%0)x 00O 0=500x 0.5
%x 12=3(L0)0 0000000 00010020070 000
Jodododouododod2eee o000



00000000000000000500000000
00005%017%000000000000000000
0000000000000 0000000000000
0000000000000 0D10000@00000)00
000000300@00000) 00000000000
0000017%0 000 ()00000000000000
000000000 (DO000000000000000
0000 @EO000000000000000000000
0001000 (0000 =50%%=2500)000000
0000=(5025)x 17%=8.93(00) (000000000
00000 =8933x 7%=9.14(0 0) (3)0 O O O =100

x 17%=17(00)00000 00 0=17-9.14=7.86(0 0) 0 O
020000000000000000000000 02009
0100000000 (()000000000000000
000000120000000000000000000230
00000000.(0000000000000000
030000000000000000005000000
00.3)0000000000000000000000
00078000 000000070000 000000000290
00.0000008000000000051.48000 (00
000000000400 00000030%.000000
00000020%000000000000000000
000000 @O00D0000000000000. (20
0000000000000 0D0.3000000000
00000.(4)0000000000000000000
0.6)000000000000000000000 00



20 (U o0 ooodood=0o0o0000xgd0dd
0=(12030)x 40%=60(LU )OO O OO0 ooooon=(
Do000o0 o)~ @-o0dod)x 00000 =(15060)
+ (1-30%)x 30%=90(U 0)QuiUouooodoodao
O=(000000 00 000)x O0000=(1506090)

x 17%=51(00)QRUUOU0O000o0ooono oooon
DO00000=000000x 0000=(355)x 20%=8(U
Hoooooooodood=(muodood od)x 0
OO0O0=0408)x 17%=8.16(U )@ Ul oouodoon
000 00O=[29051.48+ (117%)]*x 17%-51-8.16=-2.38(1 )
G)UuUoiddoooouooodondo=[29051.48+ (1
17%)]*x 30%-90=10.20(0 ) 100Test U U OO OO O OO OO
ODo0o0ddoooddnnd www,.100test.com



